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Question Number : 1 Question Id : 3354728331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which field was the Nobel Prize awarded to Har Gobind Khorana in 19687 | 1968 H g% mifds G &1 o 57
H Hlelet QEER  |EATTa fera T ar?

Options :

1. ¥ Physics | Wid® &9

2. ¢ Physiology or Medicine | Th=imT=T a7 Az
3. ¥ Chemistry | T BeH

4 % Pharmacology | BTHIE AT

Question Number : 2 Question Id : 3354728332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

MName the sanctuary in Crissa that has a water spread of approxirmately 900 sq. km and which is famous for
man'j.r species of migratory birds. | TZam # 39 SRR T AW S99 a7 900 3t BT @7 e Sarg & i Ar
T T TATTa Al o Tel Wiekg 2]

Optlons :

1. ® Ghana | =T

2. ¢ Chilika | e

3. ¥ Balukhand | 9Tg@Es
4. ¥ Baisipalli | d&bear

Question Number : 3 Question Id : 3354728333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
_________ i5 the oldest science museurn in India, which was established under the aegis of C5IR. |

WA T Fard [T o SrgTa 8, e SiUasmg s o Tearaer § wmite T ma om
Options :

1. #® Visvesvaraya Industrial and Technological Museurn, Bangalore | fereeRar sfieitiie e Hiziiih 4 augme,

2. ¥ National Museurn of Natural History, New Delhi | T8 T G® Sidgi GUETE, 78 Taee]
=, ¢ Eirla Industrial and Technological Museurn, Kolkata | THEdT sffeniite ua v augeg, SiaeeT

4 % National Museum of India, New Delhi | T8I [dlica® AUgad, 98 [Geel

Question Number : 4 Question Id : 3354728334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

what trade would you associate the town of Palanpur in Gujarat with? | TeRId H U= & 957 F1 &0 e s &
Tehg W7

Options :

1. ® Carpet weaving | ®TH g8

2 ® Ceramic ware | =@ ST adq

=, ¢ Diamond trading and polishing | §RT =R &% gTi=TEHT

4 # Aluminum ware | Jega =g o (&6 )

Question Number : 5 Question Id : 3354728335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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“World Population Day’ is celebrated on _____________ of every year. | "o Fmeea iegw, wad® oy
T AT AT &1

Options :
1.9 11th July | 11 Jo8

2 % 20th July | 20 Jd12
2. ® 25th July | 25 JAE
4 # Sth July [ 5 @6

Question Number : 6 Question Id : 3354728336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Constituent Assembly (elected for an undivided India) met for the first time on_______ | Tl 4T (T
ST W o o et mgataw EaRERE])
Options :

1. % 14 sdugust 1947 | 14 amEg 1947
2 ¢ 6 Decermber 1946 | 6 fga=r 1946
2. % 2 June 1947 | 397 1947

4 % 15 Novemnber 1939 | 15 Fder 1939

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 7 Question Id : 3354728337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhich [ndian boxer recently Nad a dual victor ; in the WBO Asia Pacific Suger Middlewesight and WEBO Oriental

Super Middleweight titles? | 9 YRS Qe o 5T o1 § Sec< airalT TTERT THIZHAT o el ATTTe
g THiEmde faame o gme Gﬁ'cr HIGEEIEE e =
Options :

1. ® Mary Kom | RO &H

2. % Shiva Thapa | Téar gmr

2. % Gaurav Ehandari | T 9=TCr
4. ¢ Vijender Singh | Ta=ler g

Question Number : 8 Question Id : 3354728338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following international football events was held in India in 20177 | 2017 # 97 # Hg@ET
AL Featdd A1 | & B9 A7 e B mar ar?

Options :
1. # Asian Football Confederation Cup | TTEETE Geald S i-haed &0

2. ® CONCACAF Gold Cup | Siu=diuding mMeg &9
Z. % FIF& World Cup | BIeT 2o o
4. % FIFA Under 17 World Cup | $itT 2zt 17 ok o

Question Number : 9 Question Id : 3354728339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

MName the first Indian Institute of Technology which was formally inaugurated in the vear 1951: | Tge IRd 4
T T A0 ST FeeRT 1951 # sfiuziioer &0 § e gl

Options :

1. ® [T Kanpur | STEMEST BT
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2. % [IT Madras | SMEsMEeT Agm
3. % [IT Delhi | SMEMEeT ISwelT
4 ' [IT Kharagpur | @easel @S

Question Number : 10 Question Id : 3354728340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Yarlung Zangbo river, in India, is known as; | YRT H, TR call Fal, FEam@! &

Options :

1. ¥ Ganga | T

2 ¥ Brahrmaputra | sEqF
2 ® Yarruna [ TEAT

4. ® Saraswati | GEad

Question Number : 11 Question Id : 3354728341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

According to the Census 2011, which district has the lowest literacy rate in Madhya Pradesh? [ a8 2011 &
SARTOAT o SIER, T o o e et § STaRaT @& 3¢ e &7 27

Options :
1. # Jhabhua | T

2 ¢ alirajpur | ST
= ¥ Barwani | g=am=1

4 # Sheopur | ST

Question Number : 12 Question Id : 3354728342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Indian Railways has éiven 3 coritract to Bansal Group to manage which railway station in Madhya Fradesh? |

W 127 {0 = AT Wl o T {eel ©ar T Wele @ oF 1ol erelel 0 3 | U Sfgere 7o 27
Options :

1. ® Nepanagar | 90T

2. % Satna [ 99T

= ¢ Habibganj | gd@m=

4. % Ratlam | T9aH

Question Number : 13 Question Id : 3354728343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The idol of Lord Hanuman in Girwar village of Shajapur belongs to the _____ century. | AE & Tt ma o
T AT F A _____ G

Options :

1. ¥ 5th j 5df

2 % gthgdf

Z % 12th 1z
4 ® 16th ; 164t

Question Number : 14 Question Id : 3354728344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0
what is the name of the sari that is most famous in Khargone district? | G0 el § G906 Withg 181 & T &7 57

Options :
1. % Chanderi j ZiZer
2. ¥ Maheshwari | Azl

2. ® Banarasi | AWdT
4 % [lkal | Sclehd

Question Number : 15 Question Id : 3354728345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Marme the capital of Madhya Bharat from 1948 to 1956 during surrmers: | HTSH®Te & g 1948 § 1956 &
T AT @1 T2 &1 978 =a 0

Options :
1. % Bhopal | {mTer

2 % Jabalpur | JEeqC
= ¥ Swalior | SO
4 % Indore | 22T

Question Number : 16 Question Id : 3354728346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Jatashankar termnple in Darmnoh 15 dedicated to

Options :

1. % Mahadev Ji | AgET AT

2 % Hanuman Ji | A =l

2 ® Vishnu Ji | fewy =it

4. # Rarmchandra Ji | T9=g 1

Question Number : 17 Question Id : 3354728347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Indore Municipal Corporation (MC) was established in the year_____ A a4 H# 52N AT R (STETHE)
T AT W TE 4

Options :
1. * 1962

> % 1958
2« 1958
4 % 1981

Question Number : 18 Question Id : 3354728348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

when was the Madhya Pradesh State Forest Developrment Board established? | Aeamdy T4 o= H@m 912 #d
P EREEARIEA R P

Options :

1. % 24 July 1975 | 24 97T 1975
2 % 5 July 1981 | 595 1981

2 ® 20 July 1979 ] 20 a8 1979

9th Dec17 Shift 2



9th Dec17 Shift 2

4. % 10 August 1955 | 10 g 1955

Question Number : 19 Question Id : 3354728349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwho is the 24th Governor of Reserve Bank of India? | ¥Ra 1 o= & & 24 o Ta-¢ @19 57

Options :

1. % Urjit Patel | IFa wed

2 % D subbarao | & geawia

3. ¥ Raghuram Rajan | TgUW T
4. % Bimal Jalan | =9 J@E

Question Number : 20 Question Id : 3354728350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which city was known as ‘Avantika’ in ancient times? | WEH a0 § B4 97 45¢ ' 2&id@T & 918 & [E7 A1a7 917

Options :

1. % Ujjain | 3=

2. % Gwalior | TR
3. % Jhansi | ST

4. % Bhopal | ST

sereral Maths and General Aptitude

Section Id : 335472279

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472279
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If the radius of a circle is increased so that its circumference increases by 5%, then the area increases by what

percentage? | U O o 3w 50 W a5l ¢ 1or Saa uiersr # 5% & Iy 5197 81 99 4% H a4 nidaaar & ghe 5ia a7

Options :

1. ¥ 5%

2. % 10%

= W g
4. ® 20%
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Question Number : 22 Question Id : 3354728352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& store marks the price of shirts by 80% They sell a third at this price and a third at a discount of 20% on the
marked price and the remaining third at a discount of 50% on the marked price. What percentage will be the
overall profit or 1oss? | U@ GoTd = FHI ®T H4pd 60% Sifd feam Igi g4 T T VT 59 Tra O T2 34
TE—TdRTS W aﬁﬁwmza%fﬁ@mﬁﬂm e 4 T T T SRRl ST B T 50% g I TR g A
T 5T+ T Al T o= giml?

Options :
33— upruﬁtf33 % TeT

2229 profit / 222 % &Ts
gl T 3

=, % 30% profit | 30% AT
4. ¥ 20%loss | 20 % g1+

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 23 Question Id : 3354728353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
4536

TOadH 9ar

408065 i

g 4536 . < = =
The fraction Tomos the lowest terms (simplest form or reduced form) is: / ==
B

# #1 (BT §9 7 &EHT &9

Options :
1
1 & 11

12
132

21

63
693

Question Number : 24 Question Id : 3354728354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
415 =7

Options :

1. ¥ gj5
z. %59
=.Was
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4 %05

Question Number : 25 Question Id : 3354728355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
100x 00967 x 1000 x 967 x 10x 967 ="

Options :
, » (617

5 % 967

0673
=

0673 x 10

Question Number : 26 Question Id : 3354728356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The value of (64): is: /[ (64)% & & £

Options :

s W

Question Number : 27 Question Id : 3354728357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The ratio of the area of a square to that of the square drawn on its diagonal is: | Tw @l & FHE BT ST IHd
Terepet we =it Ty &t & arguTe i

Options :
i, % oy
S
2% 54
4% 11

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 28 Question Id : 3354728358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Plx) =x% — 2% + 3 p(1) =7
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Options :
1.3
A
3.% -2
4 % -1

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 29 Question Id : 3354728359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what is the square of (0.013)7 | (0.013) %7 Fa1 57

Options :

1. ¥ 000169
2. % 0.0000169
3. 9 0000169
4 ® 00169

Question Number : 30 Question Id : 3354728360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the average. | sftad @ @0

44, 57, 41, 28, 30
Options :
1.9 40
. gy
3R 45
4 % 4z

Question Number : 31 Question Id : 3354728361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A mman corrpletes a certain journey in & hours. He covers half the diStElI‘lCtIE at 60 kmth and the remaining half
at 90 krn/h. What is the distance travelled? | Ue Tqet =Teldh o 10T AT 6 W f # 407 67T g1 FE SATeil ZL7 @1 60
TeRe Ty eeT ST St sireft gt et 90 Tt e # ot feram @ &1 E g AT g7

Options :

1. ® 360 km | 360 Tt
2. % 400 km | 400 T
3. ¥ 450 km | 450 TT
4. ¢ 432 km | 432 Tt

Question Number : 32 Question Id : 3354728362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I?dﬂ'iyr COusinl is twice my age. If the difference between our ages is 20 years, then what is my age? | AT T=RT 4TS
ST T AT aﬁtzn%aﬂafmaza o T ST G, T ST AT 7

Options :

1. % 19

Z a0 1
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S % 21
4 ® oo

Question Number : 33 Question Id : 3354728363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A& can finish a job in 16 days and B in 20 days. If both work together for 4 days and & suddenly leaves, then
how many more days does B need to complete the job? | A TF 14 @1 16 T2 # 79TE 20 Tt # U0 9 &3 8 gF1
A Tiee 4 ToA1 & oy @ @vd 2, T e A B2 31 2) 99 @1 &1 U0 @ & [0 B @7 offe ey arfdier fod @ @

Options :

1. ¥ 12days | 129
. % 9days | 9 feA
¥ 1ldays | 11T
4 % 10days [ 10 e

Question Number : 34 Question Id : 3354728364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

48 men can dig a trench in 20 days. How many men can dig it in 15 days? | 48 769 UF @18 &1 20 o1 # @iy d@d
¥ 15 ﬁﬁﬁyﬁ%mﬁgm@aﬂﬁ??

Options :
i, Wen
z. % g0
2% =0
4. ¥ 64

Question Number : 35 Question Id : 3354728365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average age of a husband and his wife at the tirme of their marriage was 25 yvears. After 7 years, the
average age of the husband, wife and his son is 22 years. What is the age of the son at that time? | & AT
T Ui 31 Uil &1 it o 24 o offl 7 au] 3 weena uid, Uel o OF o Sled ST 22 oY B 59 THT UF @1 FT A &

Options :
L
2 % 4
2% 3
4 W 2

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 36 Question Id : 3354728366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The proportion of zinc and copper in a brass piece is 4:5, respectively. How rmuch zing will be there in 180 kg
of such a piece? | Wae 1 T FHid T T Ta TTalT T SUTT FHC 4:5 81 THI TR HT 130 ToHwuT 1 0o Fid § ST &1 77
EF«’-]TEH ¢

Options :

1. % 40 kg | 40 TFm
2. ¥ 80kg | 80 fFT
3. % 10kg | 10 fFw
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4. ® 120kg | 120 FFm

Question Number : 37 Question Id : 3354728367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The smallest number which must be subtracted from 8934 to make it a perfect square is: | 95 Fad Fel FE&aT
AT WY, e 8934 | HEE ST affey, a1 9% U qut ar e =

Options :
1. % 94
o % g5
z. ¢ ag
4. ® 100

Question Number : 38 Question Id : 3354728368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If x/5 and 915 are equivalent, then value of x is___ | Ag x /5 AR 9)15 A0 T &, T3 FTAM _____ 2

Options :
1. %3

o % o7
3 % 20
4 ® g

Question Number : 39 Question Id : 3354728369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of the following is CORRECT, if x*=42247 | Af¢ x¥=4224 &, af Praci@a & &

Hi=T HET B2
Options :
. 64<x<65
52
210=x=215
2 ®
. 24=<x<25
= W
21<x<22
4 =

Question Number : 40 Question Id : 3354728370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The greatest 4-digit number which is a perfect square is___. | Hgod 4-Si g g&ar, A fFgw ai e g, _____ E
Options :

1. % 9999
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2% o

3. ¥ 9801

4 ® 9081

izeneral Hindi

Section Id : 335472280
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472280
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
FOUTE & MTHW O e o _________ g &

Options :
1. % owm
Rl |
3 % i
4. ¢ Ui

Question Number : 42 Question Id : 3354728372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ToHN 955 5! 5-
Options :

1. % om

2 ® oot

29 Ny

4 ¥ g

Question Number : 43 Question Id : 3354728373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
et eg 51 g-
Options :
1. % a7
2. ® FqE
3 ¥ T
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4 % FE

Question Number : 44 Question Id : 3354728374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I o Teleag, T T 1) et T o-
Options :

1. ® aETer

o & T

s ® g

4. % Zadt

Question Number : 45 Question Id : 3354728375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
FE-52 sreg ISR E-
Options :

1. ¥ [%w g

2 ¥ ugig deg

Z ® Tdemer g

4 % i TvedE

Question Number : 46 Question Id : 3354728376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

WHE BT Ui W @ 6 ee
Options :

1. % gt

2 ® gy

3. v T

4 % gw

Question Number : 47 Question Id : 3354728377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

AT LT Hrehg & o o Uk e g H H HIT AT Y
Options :

1. % gy

2. & Ui

2 ® foar

4. B ww

Question Number : 48 Question Id : 3354728378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T T A i P A S @ A e

Options :
1. % g+

o % g4aq
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S ¥ ogotam
4 ¥ I4ae

Question Number : 49 Question Id : 3354728379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The 1 A Jeg M A F BT ATE?

Options :

1. % ghedr
2 ¢ T
3 % Tmw
4 % Twd

Question Number : 50 Question Id : 3354728380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

G I ST e T H R 57
Options :

1.9 gurs

> % Fygg

3 8 T

4 ® T

Question Number : 51 Question Id : 3354728381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
TRMEAA e § =9 H & 217 91 90 27

Options :

1. ® Jouey qAH
2 ® TErEmEE

=z, ¥ FHANT AR

4. ¥ iy gu

Question Number : 52 Question Id : 3354728382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘T AT gerat @ af T A g e argy

Options :

1. ® g | g &
2. & HI FAT

3 % P I wAT

4 8 FTH R GAT FISAT

Question Number : 53 Question Id : 3354728383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

THT F GG T FE A @A ATE?
Options :

1. ¥ g
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= ¥ FEig

3. Igd
4 ® Foud

Question Number : 54 Question Id : 3354728384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I A W e o T7 B0 JHHT FAT
HIET FaT @ S H ST g J S|
U e A g e AT Y

Options :

1. ¥ fgd

o % g
3. % anged o
4. % 9w

Question Number : 55 Question Id : 3354728385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A & AT off, o 9 o |
H I &7 s 8 dgf fewedr g

Options :

1. % 27 aFwy
Z. % JUAT STAER
3. ® T AATR
4. & JHF AAFE

Question Number : 56 Question Id : 3354728386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T T st I wHar TET IO aTe Uik BT g - e, T gE mee
Options :

1. % s, fare, Y, g

2 % s, fodh, T, srmers

3. ® ajew, ok, ST, STTERT

4. i, T, g, A

Question Number : 57 Question Id : 3354728387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ToTT T gETa @ ARt arf gy - gie St @

Options :
1. % o7 gReT @eT

= & wd gETy W

3 ® Ff # I ET
4 % o7 ¥ g Faw g ST

Question Number : 58 Question Id : 3354728388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

T ST T aﬁsﬁgﬁﬂgﬁfﬁr
Options :

1. % Tifder

> % efafifier

2 ¥ Iedrdr

4. % T

Question Number : 59 Question Id : 3354728389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

et e FafeiET & & e o &t seemdr § -
Options :

1. ® Sg-fea

2 gt

2 ® offfgw - arer

4 ® gl

Question Number : 60 Question Id : 3354728390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AT e & T 90T &7 IEIgem 57
Options :
1. ¥ SrEiiTg JHE
2 % FqgEy GAE
2 % gy que
4 ® Iz aEg
Fural Economy and Panchayati Raj
Section Id : 335472281
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472281
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

iﬁﬂlc;g%nong the f%omng has the power to name a local road in a village? (799 # @ Tordt U g & w1 @2 1
T T & :

Options :

1. ¥ PWD Departrment | WEerga ! fmmr
2. % District Panchayat | F&T t=maag

= % Janpad Panchayat | 999 U=Im2a
4. ¢ Gram Panchavyat | TTA T=T0d

Question Number : 62 Question Id : 3354728392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which arnong the following districts of MP is the highest producer of potato? | T U & & e o Faitee s
H ICAEA BT 27

Options :

1. ¥ Chindwara | SgarsT

2 % Anupur | SR

2. ® Guna | AT

4 # Datia | gidar

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 63 Question Id : 3354728393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Eeneficiaries of Mukhya Mantri Bhavantar Ehugtan Yojana are: | EIAAT ARG GEH AT & A0 8

Options :

1. #® Industrialists | MR
= ® Teachers | Tiu®

=, % Farmers | e

4 % Students | 19

Question Number : 64 Question Id : 3354728394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which city is Reserve Bank of India - College of Agricultural Banking located? | e sige # fesrel dfe i gfear -
FTer STE T ealta o [T T 27

Options :

1. * Delhi | Tawsr

Z. ¥ Kolkata | Sia@ET
3. ¢ Pune | 0

4. % Bangalore | sTAR

Question Number : 65 Question Id : 3354728395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which year was the pilot phase of Pradhan Mantri Adarsh Gram Yojana launched? | Wemaa=T g omd F=Er
T W 2y e o g fer e

Options :
1. % 2000

= % 2005
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3. 4 2010
4 % zp1s

Question Number : 66 Question Id : 3354728396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Cn which website can farmers get information on agricultural produce prices? | o e dewee @ T IoaE! &

el © Halled GaeT 0T & dehd 27
Options :

1. ¥ FEDMARKNET

z. ¢ AGMARKINET

= ¥ COMMODITIESNET

4. % AGPRODMET

Question Number : 67 Question Id : 3354728397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The erstwhile Kutir Jyoti scherme was associated with: | I& Feil saiid Jh-T 49 & datea off

Options :
1. ¥ Promoting cottage industry in villages | Tia! # Fei0 ST & FG =] o1
2 % Prormoting employment among rural unemployed youth | TTHIT sRATR Jemelt & 7 T &1 agTam a1

=, % Providing electricity to rural families living below the poverty line | TRIaT &7 & Hieh Sa= A0 F ITed WTH0T
qivat ®T Rt Suees HHT

4. % Providing housing to poor farmnilies | Teia Tia®! & #0 STame wEe= &e-T

Question Number : 68 Question Id : 3354728398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Agriculture, including allied sectors, accounted for ________ ercentage of the GDP in 2014-15 (@t constant

price 2011-12). | Hehg 837 AT T, 2014-15 § A2 (Er 2011-12 W& ________ EIGEI G I AT

Options :

1. % 240
EA
2% sy
&% 103

Question Number : 69 Question Id : 3354728399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& policy of support prices for food-grains came to be adopted throughout India in_____ .| =Ty # o aada
el @t e S qda aeg | T AT

Options :

1. % 1944
2. % 1958
= ¥ 1964
4 % Ja7o

Question Number : 70 Question Id : 3354728400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

9th Dec17 Shift 2



9th Dec17 Shift 2

AS per the Constitutional Provision, how will the chairperson of the Zilla Parishad be elected? | EERNECRNRRIE
o AT AT UIug @ areray @ T ard g

Options :

1. ® Directly | weary

2. ¢ Indirectly | ameay

2. % Aisdecided by the State Legislature | T=2 T A=d gwy frafic
4. ¥ Through Co-operation | G540 & AT &

Question Number : 71 Question Id : 3354728401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which year did the Pradhan Mantri Gram Sadak scheme start? | 7o o H We=a=T 70 §2@ 991 IR g2 417
Options :

1. % 1999

2 ¢ 2000

3. % 3005

4 % 1991

Question Number : 72 Question Id : 3354728402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the objective of ‘Kamadhenu Yojana’ in Madhya Pradesh? | T 1S # " ®HER] TT 31 F7 599 87
Options :

1. ® Breeding of cows | T &7 ==

2. % Development of cowsheds | TamaTsil &7 9@

2. ¥ Increasing milk production | Ze @1 JeEA SgHT

4. % Medical treatment of cows | T @7 R =R

Question Number : 73 Question Id : 3354728403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which among following states does NOT cultivate wheat? | oRTFTET # & forg g # 15 &1 SdT 751 &7 <1 87
Options :

1. ¥ Madhya Pradesh | 77 02T

2. ® Maharashtra | AERTE

2. ¥ Tamil Nadu | FE#AS

4 % Karnataka | &lc®

Question Number : 74 Question Id : 3354728404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Holding of elections to Panchavat is decided by: | U= & g1d F0 &1 [vig 5 grr fmar [ &
Options :

1. # Election Cormrnission of India | YR ®T =1 =T

2. % District Collector | Fwmeftsr

3. ¥ State Government | T4 OTEN

4. % Governor of the state | T T TT=AUTA
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Question Number : 75 Question Id : 3354728405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the main objective of ‘Bharathlet'? | “IRT ¢ &7 747 §&J 53T &7

Options :

1. ® Providing fishing nets to fishermen of tribal areas | SMTEETHT G371 & AFeRT &1 FEa! ThS & AT Tg= FAT
2. % selling plastic nets by this brand name | 59 #1S 7T T tATC® $1 AT =1

3. ® Networking of highways of the country | S o TRIHTI @ Sed 9T

4. % Provide broadband connectivity to Gram Panchavats | WTH T=H4d! & HiSds T Ha He]

Question Number : 76 Question Id : 3354728406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
sansad Adarsh Gram Yojana was launched by the Prime Minister in 2014 o the birth anniversary of

_________ P 12014 HWHHAT ERT _________ % J-AEd W HHE A1 UTH I O T ol
Options :

1. ® Deen Davyal Upadaya | ZHATA JUTEAT

2 % Shyama Prasad Mukherjee | S2THT WETS G&1

= % Javaprakash Maravan | Fauers AR

4 % Sardar Vallabai Patel | 90 ToesleTe Udd

Question Number : 77 Question Id : 3354728407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Mahatrmna Gandhi State Institute of Rural Developrnent & Panchayati Eaj is located .
SEC IS T ®H SarUde U FaTd [ T ( Ag et TTei T2 TreioT feeme Sem ua v O _______ H T 21

Options :
1. ® Bhopal | {mOmer

2 ¢ Jabalpur | S&eyt
= % Sagar | 9T
4. % 5idhi [ =t

Question Number : 78 Question Id : 3354728408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

what is the percentage of seats reserved for OBCs in Panchayats in Madhya Pradesh? | Be near H d=mzgt | a1
Tirgrs amt o o0 fepa=r midae &1 smefda 87

Options :

1. % 10%
o S
3. ¥ 25%
4. ® 33%

Question Number : 79 Question Id : 3354728409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In which of the following Circumstances is additional 10% of the wages given to worlers under MGHNEEGS 7 |

T | & o gieieEd o, 390 & eETid 10 vided ST i aniediie g ST 57
Options :

1. % If working hard | #a X 00 g9 0
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2. ¥ When worksite is more than 5 ks away from residence | e e & S Tt ST @0 @15
3. ¥ If the prograrmme officer feels | a7 wriwH SITEHNT A5 FaT 5
4 ® If the worker cornes early for work | I FTATR T 0 907 & 0d oMaT &

Question Number : 80 Question Id : 3354728410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what should be the minimurn age for contesting in Panchayat election? | W=Tad g-1d da- & o0 =7ad &g -

Options :

1. % 18

2 ® 18

ik i |

4 % 22

Computer Knowledge

Section Id : 335472282
Section Number : 5
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472282
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
HTML i5 used to create a: | HTML & IU=T f49 3 i & e o Fm 2

Options :

1. % Web server | o9 T

2 % word docurment | 92 STgEgHT
= % Web page | da U

4 ® Database | EWTET

Question Number : 82 Question Id : 3354728412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The mechanism to protect private networks from outside attack is called_________ .| UTEaIT Haash &1 a5t gAA
ST ATeT T HEAT 2]
Options :

1. ¥ Antivirus | g2EERg

9th Dec17 Shift 2



9th Dec17 Shift 2

2. ¥ When worksite is more than 5 ks away from residence | e e & S Tt ST @0 @15
3. ¥ If the prograrmme officer feels | a7 wriwH SITEHNT A5 FaT 5
4 ® If the worker cornes early for work | I FTATR T 0 907 & 0d oMaT &

Question Number : 83 Question Id : 3354728413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

How can you print three copies of a worksheet? | &0 Uk Sk &I 914 0iaal ®1 &4 e & T 57

Options :

1. ® Click Print from the menu and Select the print pages frorm 1 to 3 | B & W W oerw @ 8T 1 6§ 3 7w e v
EICETAC TS

2. ¥ Click Print from the menu and type 3 in the Nurnber of copies text box, | B9 & e ot e #¢ o7 nidat &
AT M6 S S1FE 4 3 TR0 B

3 #® Press Ctrl+P+3 | Ctrl+P+3 e

4 % all of the above | IR a4

Question Number : 84 Question Id : 3354728414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following command is MNot available in Print Preview menu in MS Word 20077 | TAUH =2 2007 §,
Wiz i i © T 9 @ | i 3ueerd J51 51d 1 87

Options :

1. #® Zoom | 3H

2 % Preview | Tag
3. ® Page Setup | U9 @=am

4. ¢ Paragraph | TTTE

Question Number : 85 Question Id : 3354728415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The processing of putting data in a storage location is called

Options :

1. ¥ Reading | e

Z. % Controlling | sife

3. ¥ Hand shaking | 3= i
4. ¥ Writing | gl

Question Number : 86 Question Id : 3354728416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number of function keys in the standard kevboard is

Options :
1. % 10
2. %3
=9 i1
4.9 12
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Question Number : 87 Question Id : 3354728417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
MAC addressis _________ bite,  MAE TS e IECAAGRR

Options :
1% 24
o % 35
3. ¥ 48
4. % 42

Question Number : 88 Question Id : 3354728418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

________ cookies are also knowrn as transient cookies. [ ________ el Bl TIFA0T gkl e ATH & T ST AT 8
Options :

1. ¥ Third-party | g92-97f

2 ® First-party | S€e-Te]

2. ¥ Session | HI9

4 #® persistent | TEHdT

Question Number : 89 Question Id : 3354728419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The elermental language of Cormputers COI'ﬂpI'lSlHE d long SECUErLCe of binar digital zeros and ones (Lits) is

called | T T HE T, wHET AT ST E, FEFTT 2l

Options_: ___________
1. ¢ Machine language | B S

2 ® plgorithrm | SEREH

=. % Flow chart | B#l I

4 # High Level Language | 515 o oilaT

Question Number : 90 Question Id : 3354728420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the pictorial representation of work sheet data in MS Excel? | TATE TFds § dordiic 227 & Raade® e
T E?

Options :

1. % Chart | 9@

2. ® Clipart | Teememe

3. ® Wordart | G2

4 % All of the above | Iuigd a4t

Question Number : 91 Question Id : 3354728421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The extension for an MS Word 2007 file is: | AU 92 BEA & o] THde - WH- 5T &

Options :
1% tut
2% ep
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3. % docx
4 % odt

Question Number : 92 Question Id : 3354728422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the full form of LAN? | LAN %7 foRqd &9 47 27

Options :

1. ® Low-level Access Network | AT-lad Ugad Jead
2. ¥ Local Area Networlk: | #lgd T Jede

= ¥ Load Adjusting Network | @IS USH€aT Jead

4. % Lower Area Network | #Ter Uit Aade

Question Number : 93 Question Id : 3354728423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
How many bytes equal to a Gigabyte? | TFa- a1Ee UF TS & e 51d 57

Question Number : 94 Question Id : 3354728424 Question Type : MCQ Option Shuffling : Yes Display Question Number : YesSingle
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In Excel, “Ctr 1, Otr 2, and Qtr 3" is an example of. | TFda §, "Qtr 1, Qtr 2, Qtr 3 0T %1 Jae0 g
Options :

1. ® Forrmula | STHAT

2 ® Function | GHad

3. ¥ Series | T

4 ® Syntax | @egd

Question Number : 95 Question Id : 3354728425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which one of the following shortcut kevs is used 1o cut a portion from a document in MS Word 20077 | TTHTI

E e 2007 T B 8 A 6 AR G, ST 1 6 TR T e 3 1O e e 27

Options :
1% CTRL ¢
& WCTRL 8
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3 ®¥ CTRL+ N
4 % CTRL 4%

Question Number : 96 Question Id : 3354728426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

ASCII is a coding systerm that provides
TR Fared It FaT 8]

LE

Options :

1, W pog
-8 57
=% 1004
4. % 2024

Question Number : 97 Question Id : 3354728427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

To sawve a word document M5 Word 2007) in a specified location, you have to click and select _______ Optlon i
office button. | 92 STFIHT (TATE 92 2007 ®) ®T HCHT Ara § 9 Fe & o, st s aea o _______ T fFo
ST Helgpe FAT g

Options :

1. % Save | ®F

2 ¥ Save As | 9T T
3. ® Open | o=
4 ® Mew | T

Question Number : 98 Question Id : 3354728428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which shortcut key is used to ‘align center’ the selected text in MS Word? | UTATE g2 # dcides dgds W align
center’ ®T SHAHTA H o oy T AT @l T SHAATA a1 57

Options :

1. % Citrl+RE
Z. % Crrl+]
3. ® Crrl+U
4. ¢ Citrl+E

Question Number : 99 Question Id : 3354728429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

When we delete any file using delete key only, the file goesto the _______ | 19 g0 Tl BIE e wT e T2eie gl
I F Bl Fd ¢, daT BIed ________ AT AT 8
Options :

1. ® My Cornputer | A5 TR

2. ¢ Recycle bin | o =9

= ¥ Downloads | ET3Adis

4. % Network Neighborhood | =2ed Jeigs

Question Number : 100 Question Id : 3354728430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

________ i3 A tool use to create and format SpI'EEldShEEtS. ,I'
I ATAT 09 2 2

Options :
1. #® Adobe Photoshop C5 | TETd Bzl H09
2 % Microsoft Power Point | ATSHIETF U] YaTee

2. ¥ Microsoft Excel | HEHEITE UHed

4 #® Internet Explorer | See-e THAYANT

________ Ui &7 i e 3 GTHe @ @ o ugea
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